#134 Best Stitch Ever

Skill Level: Beginner

Stitch Multiple of 2 plus 3.
Example 2 x 7 = 14 plus 3 =17

To make a sample swatch, chain
17.

Row 1: Scin 2" ch from hook,
*dc in next ch, sc in next ch*, rep
from * to * across to last ch, sc in
last ch, turn.

Rows 2 & 3: Ch 1, scin first sc,
* dc in next sc, sc in next dc *, rep
from * to * across to last st, sc in
last st, turn.

Row 4: Ch 1, hdc in first st,

* skip next st, hdc in next st, hdc
in previously skipped st (crossed
half crochet made) *, rep from * to
*across until 1 st remains, hdc in
last st, turn.

Rows 5-7: Ch 1, sc in first st, *dc
In next st, sc in next st *, rep from
* to * across to last st, sc in last st,
turn.

Repeat Rows 4-7 for pattern.

Stitches Used:

beg — begin (beginning)
ch — chain

rep- repeat

st — stitch

yO- yarn over

sl st — slip stitch

sc- single crochet

hdc — half double crochet
dc- double crochet



